
4

5

6

SEE PARTS LIST

N/A

-

WEIGHT 611.77 g

GUTTER MOUNTING FIXING KIT

EM108GMUF

WO

11/08/2020

A3

+

-+

PROJECTION SCALE

DRAWN

DATE

REQUIRED.

1:2

1 OF 1

MM

-+
IF IN DOUBT ASK

0.5

0.5

0.3

REVDWG NOSHEET.

TITLE

FINISH

MATERIAL

TOL. ANGULAR

TOL. DIAGONAL

TOL. LINEAR

DIMENSIONS

UNLESS STATED
THIS DRAWING IS CONFIDENTIAL 
AND IS THE EXCLUSIVE 
PROPERTY OF REDTRONIC LTD.

NO UNAUTHORISED USE, COPY 
OR DISCLOSURE OF THE 
DRAWING IS TO BE MADE AND IT 
IS TO BE RETURNED WHENEVER A

1

A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2 1
ITEM DESCRIPTION QTY.

 UNIVERSAL FOOTPACK 1
 GUTTER MOUNT 1
 GUTTER BRACKET 1
 M12 X 25mm CAP HEAD SCREW 1
 M6 X 12 HEX HEAD BOLT 1
 M12 NYLOC NUT 1
 M12 FLAT WASHER 2
 M6 ANTI-VIBRATION WASHER 1
 M6 HEX NUT 1
 SELF TAPPING SCREWS (OPTIONAL, NOT INCLUDED) 2

INSTALLATION INSTRUCTIONS: 
ASSEMBLE UNIVERSAL FOOTPACK1.
INSTALL THE LIGHTBAR BASETRAY - DO NOT TIGHTEN FITTINGS AT THIS STAGE2.
TEST -ASSEMBLE GUTTER MOUNT, BRACKET & FOOTPACK ONTO VEHICLE3.
ASSEMBLE GUTTER MOUNT ASSEMBLY WITH UNIVERSAL FOOTPACK USING M12 4.
X 25mm CAP HEAD SCREW, 2 X M12 WASHERS & M12 NYLOC NUT
ASSEMBLE GUTTER MOUNT & BRACKET WITH M6 BOLT, WASHER & SCREW AT 5.
REQUIRED SETTING (SEE STEP 3)
OPTIONAL - USE 2 x SELF-TAPPING SCREWS TO SECURE POSTION6.
HEIGHT OF FOOTPACK CAN BE ADJUSTED TO ASSIST WITH ANGLED 7.
INSTALLATION AND/OR TO REACH DESIRED INSTALL HEIGHT


